EARAROBREBRT —5 XN—ZXBISH—F

2022455818 (B) 3EKR1E

7R B L ) \(9&1&1 Fﬁ ‘I%EH?’JFQ] - | 5 s *m
[xE<%] 1 & :500,000H  23&:175,000 @ ~ 33#&:100,000 9 . 43%&:50,000 ™ 5 3&:25,000 H
B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o=~ ERRE - - BP=E— (KR
B et ] o | g 05 | 22 [ms| - |2 | w0 [AE- o
RIIZARD—=ILYF— BEILFOR—-X PIRIAIS
<~ RS~ 4 6 | LUASEES 51.0 6-3 351 — 1 460 | FERRAE— (BERE)
205|5|ZLYRY—=2 54.0 &) o |EHER
RPURYA TSR B:RIVATUYRU— #HBIr7—L
F —~, 4 4 | HER 51.4 3-4 36.0| — 3 471 | BWE— KR
3 4| NAVvyIALZVD 54.0 2172 e
RiTJUA=Y B:OAZVTT4TS BKRI W R
o o s AEE - — FEZR (KR)
4 2 A—Y 4 —L—H— > 5 ol (571é) 8-7 35.3 6 (4_4;) ﬁEﬂ@A 7]
RiIAYVTSwya B:N7EILYDN— el e
5 Ho4 | BIRE 51.7 1-1 36.6| - 5 | 512 |EBEE KR
sBY 3 TAY 56.0 A 3/8) o) | TSI
RiFRXF BERILNTOVR A N5
=-~ 7 | SRKE 51.8 5-5 36.0| — 7 461 | FREAZR OKR)
6111|357 5.0 P Cy | B Ak
RivavFvhyrF B:7IEU—9 NT VA5
—- 4 8 | BAITE 51.8 9-8 5.7 — 9 487 | BB OKIR)
7188 | P¥=2ILBU— 51.0 p) (5) | DHAXF
R:F—NURYIL B:PIZUXRA1 SRENIS
. 4 | LAERE 53.4 4-6 37.8| — 4 508 | SHE (KR)
EH [ == Rl VA s .0 A0 @5 | BB
RiF4RIU—bFrvv b B:D47—-0V TSUFT7—LAL
\ EHRE - - - - EiEi (KR)
«| 8|9 | VILLA—X 5B (1) 7 8 ?:3(3 ;EE%%
R:Fg—BMLRDIIL B:VIWIT7—RAT— LIPS
@ 11— —‘@BIEfI
13—7F—
20—7F—
BEIESSES 3,7,4,6,1,5,9,2,8
43—F— 3,7,5,4,1,6,2,8,9
0 ILRE
BB 7 260/ AR 5-7 1609 & 5-7 310 3EE 4-5-7 620/
B B 7 130F9 4-7 3504 F5 EE 5-7 300 3EE 7-5-4 2,220
5 1004 4-5 2904 o= 7-5 510
4 160/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




